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e —a—br-a—YAKX n=1 &32%. h=b-a, xo=a, x1=b, x=a+sh

b b g — 1 1 h
ag = / lo(z)dx = /a Bt O h(s —1)hds = 5 1(x)

a ro — T1 hJo

b b oy — 1 /1 h
a1 = /lo(x)dw:/a i xodxzﬁ/o sh~hds=5
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Hence [ fa)dr S o+ 1)

. IhE T 1 A(Trapezoidal rule) & V9.
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#include <stdio.h>

I* B DER */

double func1(double x);

double func2(double x);

I* BN ¥

double trapezoidal( double a, double b, int n, double (*f)(double) );
int main(void)

{

}

int n=100;

printf("2.0/(x*x) # [1,2] TR L £ 7, EIEII%d T3 ¥n", n);
printf("#E 513 %20.15f T3 ¥n" trapezoidal(1.0, 2.0, n, funcl) );

n—1

k=0

x=a

h
> E(fk + fr+1)

b—a

1 A&V,

printf("4.0/(1+x*x) % [0,1] TR L £ 7, 2EHIZ%d T3 ¥n", n);

printf("#E 513 %20.15f T3 ¥n" trapezoidal(0.0, 1.0, n, func2) );

return 0;
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double trapezoidal( double a, double b, int n, double (*f)(double) )

{

double T, h;
int 1;

x=h

h=(b-a)/m; /* ZAHEDOFRTE */

1 BN *

T=((*)@) + D))/ 2.0;

for (i=1;i<n;i++) T += (*H(a +i*h );
T *=h;

return T;

EITRER

2.0/(x*x) % [1,2] TS LE$, 2EI%IL 100 TF

R

1.000029166020881

4.0/(1+x*x) % [0,1] TS L¥ 9, &L 100 T,

R

3.141575986923129
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/* E‘\:ﬁi&@E% */ (E#) = 109246212
double func1(double x) = e %
{
L Jo§ 0
return( 2.0/(x*x) ); (x) e
f
double func2(double x)
{ BHEAXIC LHE®
return( 4.0 / (1.0+x*x) ); (B} = 141243687
¥ x=1 %x=8 b
S FORIN
(x) e
S FUORRICLBE
() = 1441085181
ATA4RT o7V AR p.139 x=1 x=8 :

=a—hr - a—=YARX n=2 &75%. h=(b-a)/2, xc=a, x1=b+h, xe=a+2h=b, x=a+sh

0T @o- ﬂc1)l(xo — o) /az(m —2)(@ —e)dr = %/02(8 ~ (s -~ 2)hds = g
T - iEo)l(331 —z2) /ab(m ~ @)@~ zp)ds = %h
2T (e wo)l(scz — 1) /a (v =wo)w —m)dw = Z
Hence [ j(@)de ~ 2 (S0 +4f1 + 2)
he 0 1 AR(Simpson’ s ruleln).
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FEOFE KElablz 2n 4. 050 A xik, &/NX M [xok,xok+2] (25

b n—1 .. n—1h
[ i@ = Y [ p@)de 3T Sk + 4foks1 + Sor42)
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h
= g{fo + fon +4(f1+ 3+ + fan—1)
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+2(fo+ fa+ -+ fon2)}, h= ¢
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ATAR9 VR Te T TN p.140
#include <stdio.h>
r* B DER */
double func1(double x);
double func2(double x);
[* 27 N H
double simpson( double a, double b, int n, double (*f)(double) );
int main(void)
{
int n=50;
printf("2.0/(x*x) % [1,2] TR L £ 3, 2FEIL%d TT¥n", 2%n);
printf("#E 513 %20.15f T3 ¥n",simpson(1.0, 2.0, n, funcl) );



printf("4.0/(1+x*x) % [0,1] TFE L £, 0EI#IT%d T ¥n", 2*n);
printf("fi F13%20.15f T4 ¥n",simpson(0.0, 1.0, n, func?) );

return 0;

}

1% T NG

double simpson( double a, double b, int n, double (*f)(double) )
{

double S, h;
int 1;

h=(b-a)/(2.0%n); /* AHEOHE */
[ 7 N
S = ((*H(a) + *Hb) ) ;

for (i=1;1i<n;it+H) {

S +=4.0*(*f)(a + (2.0*-1.0)*h ) + 2.0*(*H( a + 2.0*1*h );

}

S += 4.0*(*N(a + (2.0*n-1.0)*h );
S *=h/3.0;

return S;
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b ry(x)
L, S Gowdyyds

P(x)
F@) = [5Gy

I = /abF(a:)da:

FATHER

2.0/(x*x) & [1,2] CH&Sy LE 37, /#1%0% 100 T
fEEIT 1.000000002582389

4.0/(1+x*x) % [0,1] TRy L £ 97, 3EI%0E 100 T3
e 3.141592653589754
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BN [¢ &), P&)] o G)=yo<y1<<ym=T(x) & m %457, k=(ym-yo)/m

k
F(z;) = 5{90 +on+2(g1+92+ -+ gn-1}, 9 = (x4 95)

TR o &), Px)] ¢ (x)=yo<y1<<yem=T(x1) & 2m %57, k=(y2m-yo0)/2m
k
F(x;) = g{go + g9om +4(91 + 93+ -+ 9gom—1}
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